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Pre-Calculus 11: HW 2.a Basic Trigonometric Review

1. Given each triangle, indicate which side is the “Hypotenuse”, “Opposite” and “Adjacent” to the angle used.

Then find the value of the trig ratio and angle:
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2. Indicate which angle is equal to “x” and then solve for the angle:
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3. Find the length of the missing sides:
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When | use the regular trigonometric functions like sine, cosine, and tangent, does it only work for right
triangles? Or can | use it for all sorts of triangles?

You can only use the regular trigonometric functions for right triangles.

When | sine an angle like 607, it gives me a value like 0.866025403. What does this number represent?

The value that comes out of applying an angle to sine, cosine, or tangent represents the ratio between
the respective sides that the function applies to. In this case, 0.866025403 represents the ratio between
the opposite side of the angle and the hypotenuse of the triangle.

When | cosine or sine any angle in a right triangle will | ever get a value greater than 1? Why or why not?

No, as the hypotenuse can never have the same value in a right triangle as an opposite or adjacent side.
As the hypotenuse has to have a larger numerical value than the other two sides.

. . . . s -l -1 - .
What does the inverse trigonometric function do? le: SIn ,COS , Or tan . What is the purpose of these
inverse functions?

These inverse functions find the angle from a trigonometric ratio. For example, plugging in the value of
sin(60) into its respective inverse function, it will return the value 60.

When | take sine 45 and divide it by cosine 45, does it equal to tangent 45? Why is it equal? Does sine an angle
divided by cosine an angle always to tangent the angle? Why or why not? 0%
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A 20meter long wire is attached to the top of a telephone pole 15.5 ers tall. at is the exact measure of

the angle the wire makes with the ground? —
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